HKRDKEREGRICONT

[A6]HE)II R4 B (BeoKith : HE)IN)

KEEZIRH KEBEE R348 | R35A | R3.6A | R3.7A | R38HA | R39A | R3.108 | R3.118 | R3.12A | R41A | R42A | R43AH
— AR #%K1mLF100fELLF 0 0 0 0 0 0 0 0 0 0 0 0

KGE BHIhiLIE THH THH THH THH THH THH THH THH THH THH THH THH
ARSIV LRUVZDIEEY 0.003mg/LLLTF — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 —
KEBEERVZDILED 0.0005mg/LLL T — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 —
ELORUZDIEEY 0.01mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
MRUZDILEY 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ERXRUVZDILEY 0.01mg/LEATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
é\) A0 LIESY 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
HEEBEER 0.04mg/LLATF <0.004 — — <0.004 — — <0.004 — — <0.004 — —
& STAEAA U RUIERS T 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
R HRBEZERRUEHEREZRSR 10mg/LUATF <1.0 — — <1.0 — — <1.0 — — <1.0 — —
‘?‘E SOFRRUVZDILEY 0.8mg/LLLTF <0.08 — — <0.08 — — <0.08 — — <0.08 — —
= |FEYVRRUVZDILEY 1.0mg/LELTF — 0.01 — — 0.01 — — 0.02 — — 0.01 —
% mig{biR*R 0.002mg/LLLTF <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 — —
g)ﬁ 14-O XYY 0.05mg/LLATF <0.005 — — <0.005 — — <0.005 — — <0.005 — —
J=1 gﬁ“,{é’;ﬁ_‘? ';'_f;’;laa IFLY 0.04mg/LLATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
73,\ DYIEI=E LD, 0.02mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
% FrS/O0RIFLY 0.01mg/LULTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
r)yOOTFLY 0.01mg/LLAF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
§ vty 0.01mg/LUTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
n BRE 0.6mg/LLL T <0.06 — — <0.06 — — <0.06 — — <0.06 — —
f- |[VDDEEE 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
1§ |[ZBEHRLL 0.06mg/LLLTF 0.003 — — 0.006 — — 0.006 — — 0.002 — —
g |[C200E#E 0.03mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
<JOE/aaA8> 0.1mg/LELTF 0.002 — — 0.001 — — 0.002 — — 0.001 — —
e 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
IR 0.1mg/LEATF 0.007 — — 0.010 — — 0.011 — — 0.005 — —
PIEEES 0.03mg/LLLTF — <0.002 — — 0.003 — — 0.003 — — <0.002 —
JOESH/O00A8Y 0.03mg/LLLTF 0.002 — — 0.003 — — 0.003 — — 0.002 — —
JOERILL 0.09mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —

RILLTILTER 0.08mg/LLL T — — <0.005 — — <0.005 — — <0.005 — — <0.005
FIMRUZDIEEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
FILE=)LRUZDIEEY 0.2mg/LLL T — 0.01 — — 0.04 — — 0.02 — — <0.01 —
HRUZDIELEY 0.3mg/LLULF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
:ﬁi HRUVZDILEY 1.0mg/LELTR = <0.01 = = <0.01 = = <0.01 — — <0.01 —
®8 [ FR)TLRVEDILED 200me/LLLT &6 = = 70 = = 49 = = 6.1 = =
a)*“ IVAVRUZEDIEEY 0.05mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
gﬁE BemA14> 200mg/LEATF 8.3 9.2 8.9 8.1 8.0 7.1 5.9 5.8 5.6 6.1 6.5 6.4
ﬁﬁ DIV L TR LE FEE) 300mg/LUATF 48 — — 60 — — 35 — — 46 — —
o [EEEEY 500mg/LLL TR 89 — — 117 — — 66 — — 89 — —
fof( EAA REEE 0.2mg/LLA T — <0.02 — — <0.02 — — <0.02 — — <0.02 —
=% & CIFRAIV 0.00001mg/LELTF = <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 — — — — — —
Ef 2-AFILAYRILRA—IL 0.00001mg/LEA T — <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 — — — — — —
S 2 A REEEH] 0.02mg/LLLTF = <0.005 — — <0.005 — — <0.005 — — <0.005 —
#L;B Jz/—)L¥E 0.005mg/LLL T <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
<z AR (2EH#RF(TOC)DE) 3mg/LLLTF 0.4 04 04 0.4 0.5 04 0.5 04 04 04 04 04
IE*L pH{E 580 E86LLT 7.0 6.9 6.9 7.2 7.4 7.2 7.1 7.1 15 7.1 15 7.6

B g % BEETRLIL BEoL | BE¥al | BREgL | BEE4l | B8B4Gl | BEGl | B84l | BE4l | B840 | B4l | 286l | 8246l

2R BEETHENIE BEELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL
BE 5EUT <0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
AE 2T <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
RRBIER (RITIRAD 0.1mg/LLAE (SETHREID 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0.4 0.4 0.4 0.4 0.3

F o RBI<JIK, KEETRT




